3.2 Reciprocal Functions
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STANDARD FORM
Of a Reciprocal e histhe horizontal shift  (+ shifts left, - shifts right)

Function e kis the vertical shift  (+ shifts up, - shifts down)
« If a is negative, the function is reflected across the x-axis.

W
Y = — \ K e |a| > 1 represents a vertical stretch
X e 0 < |a| <1 represents a vertical compression
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1. The reciprocal parent function is reflected across the x-axis, then translated
4 units to the right and 3 units down. Write an equation to represent the
new function. Identify the asymptotes.
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2. The reciprocal parent function is vertically stretched by a factor of 2, then
translated 7 units up and 1 unit left. Write an equation to represent the new

function. Identify the asymptotes.
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3. A reciprocal function has a vertical asymptote at x = -2 and a horizontal
asymptote at y = 5. Write an equation that could represent this function.
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range, and asymptotes.

D'rECt'OHSlGraph each function. Ident1fy the domain
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